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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-8 0
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P3-8

BfiE) | BB (F) | EdiE (EHA/HK) [ XR R

07:55 278 150.0 E|  FiHBe07:55 KREFRF (RFAERIEE)
08:20 278 150.0 5| THAe08:20 KENFERF (RFI1EREE)
08:45 278 150.0 5| THR08:45 KRENFEF (KF1RELEE
09:40 278 150.0 5| THEB@09:40 REFEF (KFAERSE)
10:25 278 150.0 5| THRe10:25 KENFERF (RFEI1EREE)
11:05 278 150.0 5| FiHfe11:05 REERF (KREERSR)
11:40 278 150.0 5| TiHEe11:40 RHEF (KREAERSH)
12:15 278 150.0 5| Tffe12:15 KEIEF (RE1EREE)
12:50 278 150.0 | FiHfe12:50 REEEF (KREERSR)
13:25 278 150.0 5| TiHfe13:25 RHERF (KREAERESE)
14:00 278 150.0 5| Tffe14:00 KENFEF (RE1EREE)
14:40 278 150.0 | FiHe14:40 REEF (KREEZSR)
15:20 278 150.0 5| FiHe15:20 RHEF (REAERSH)
16:05 278 150.0 5| THA@16:05 KRENFERF (RA1RREED)
2it]3892.0 (14)%) 2100.0 3EHKEC: 2080.0, PH: 5.8

##[EKECE (2080.0 vs 4603.0) 35
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P3-8

BfiE) | GEBIETK (D) | EHE (EH/R) | XK R

06:05 278 150.0 (£ =| {Ri%@06:05 Bz (REAEESE)
06:30 278 150.0 & =| 1Ri%@06:30 Bz (kPBIEREE)
06:55 278 150.0 & =| 1Ri%@06:55 Bz (KAEREEE)
08:15 278 150.0 & =| 1Ri%@08:15 Bzh (KAL)
09:35 278 150.0 BH| 1{Ri%@09:35 Bz (RAEHKE)
10:55 278 150.0 FH| 1Bi&@10:55 Bzh (RAERE)
12:10 278 150.0 PR {Ri%@12:10 Bzl CGRAEEE)
13:25 278 150.0 BH| 1{Ri%e@13:25 Bz (GRAEREE)
14:50 278 150.0 A 1Bige14:50 Bzh (GRAEREE)
21t+]2502.0 (97%) 1350. 0 3203 KEC: 2080.0, PH: 5.6

#H[EKRECE (2040.0 vs 5127.0) 35
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P3-8

BfiE) | GEBATK (FY) | EHE (EARA/K) (XS SRR

07:25 278 150.0 (% =| 1Ri%@07:25 Bz (GREERSE)
07:50 278 150.0 & =| 1Ri%e07:50 Bz (kBIEREE)
08:45 278 150.0 & =| 1Ri%e08:45 Bz (KABEREEE)
09:40 278 150.0 (% =| {Ri%@09:40 Bz (KREERSE)
10:20 278 150.0 [ =| {Ri%e10:20 B (GREAERESE)
10:50 278 150.0 & =| 1Ri%@10:50 Bz (kPBEREEE)
11:20 278 150.0 (& =| 1Bige11:20 Bzh (REFRESE)
11:50 278 150.0 (& =| 1BRig@11:50 Bzh (REEREE)
12:20 278 150.0 [ =| Ri%e12:20 Bz (kAEREE)
12:50 278 150.0 |Z=| 1BRige12:50 Bzh (REERESE)
13:25 278 150. 0 El BRi&e13:25 Bz (GRAEREE)
14:00 278 150.0 5| Rike14:00 Bz (REAERS)
14:40 278 150.0 =l RiB014:40 Bz (REAEESE)
15:20 278 150.0 F[ BRige15:20 Bz (GRAERESE)
16:10 278 150.0 = Ri%e16:10 B (REARRESE)
17:15 278 150.0 =l RiBe17:15 Bah (REAEEE)
21t 4448.0 (167%) 2400. 0 3203 KEC: 2080.0, PH: 5.6

#H[EKECE (2163.0 vs 5050.0) 35




FRV (ml plant-1)

P3-8_0, Day=53 (2025-05-21)
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